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1.  

 
, ,  

, . 
 

.  
. 

 
,  

, ,  
,  

 [1–11]. 
,  
, , , 

,  0,5…1,0 
% .  

,  
,  

 3,0…3,5 %, . 
 

,  20…40 % (  
 60 %) ,  

, ,  75…80 % 
 

 1000 . 
 

, , 
,  

 1000  
 [12, 13]. 

 [14, 
17]. 



7 
 

1.1.  

: 
 , ,  

, ;  
  

;  
 ,  

,  
;  

 ,  
, ,  

, ;  
 :  

; ; ; ,  
.  

 R  
,  

, ,  
,  

.  
 

. 
 

. 
1.   

(1.1) 
 

(1.2) 

 – , 

= , ; – , ; 

–  (   

. 1.1); – ,  
. 1.2);  d – , .  
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 1.1  

   
,   

 0,5 104 
 2 104 
 1 104 

 5,0 104 
  

I II III IV 
 

1,8–5,0  
0,5–0,8   

2,0…1,4 1,8…1,3 1,4…1,2 1,0…0,8 

 1.2   
 

2. , . 

(1.3) 

 R  – , . 

3. , .,  
 n ,  

(1.4) 

 h  – , . 1.3. 
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 1.3  h  

,  
 

,  
 

  
 

 
 a/  

 
, n 

h  
  

 a/  

 
, n 

h  

2 2 0,910 2 4 0,780 
3 0,860 6 0,730 
5 0,810 10 0,680 
10 0,740 20 0,630 
15 0,690 40 0,58 
20 0,670 60 0,580 

4.  , , 

. (1.5) 

5.  L, , : 

 ,   

; (1.6) 

 ,   

. (1.6 ) 

6.  R , ,  h  

, (1.7) 

 

, (1.8) 

 – , , , 
.  = d. 
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7.  R , ,  

(1.9) 

 h  – , . 1.4. 

 1.4  

 
 

 
 

 a/  

, 
 

,  
 

 
 

 n, .  
 
 h   

 
 n, 

.  

  
 

h   
2 4 0,890 4 0,550 

5 0,860 6 0,480 
8 0,790 8 0,430 
10 0,750 10 0,400 
20 0,569 20 0,320 
30 0,460 30 0,300 
50 0,360 50 0,280 
60 0,270 60 0,270 

8. , , 

(1.10) 

 

 1.1. , 
 

, .  
. 1.1, R  = 4 . 
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. 1.1.  

. : 

   

 

; 

 , .,  

; 

–  n , 
., 

 

–   

; 

–  

; 

–  R ,  h ,  

 

; 

–  R' , , 
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; 

–   

. 

 
 (R  = 4 ). 

 1.2.  
 380/220 .  

 – 100 ,  – ;  – III. 

.  [11]  
 100  

 10 .  
2 102 .  y  III  

 1,4;  – 2 ( . . 
1.2).  

 60  60  6  
 2,5 .  

 (1.2)  

 

. 

 (1.3), (1.4): n = 84/10 
= 8,4 .;  h  = 0,68 ( . 1.3), n =12,35 » 
13 . 

 
 5  (  = 5 , / =2), 

 R . = 84/13 = 6,46 . 

 (1.6 )  L = 
1,05 5 13 = 68,25 ,  L = 
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70 .  
 8 .  

 h  = 0,5 . 

 R  = 0,366/70 2? 102  lg2  702/0,008 0,5 = 6,4  
.  (1.8)]. 

 h  = 0,344 
. 1.4).  

,  
 (1.9) 

. 

 
(1.10) 

. 

 R  (R  = 10 ). 

 

1.2.  
 

 [8]. . . 1.2.  

 
. 1.2. :  

 – ;  –  
, ,   

1. (1.11) 

 I  –  
 ( ), ;  –  

,  = 1,25 1,4 , ;  = 3 6,  
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. 

 I  U  ,  
 R  ,  

 R   R  
 – , , 

 
 r  r . 

 r  r , ,  
, , 

. ,  I  
 

. 

,  
 r   –  r  

:  

. 

 r  = . 

, , 

. (1.12) 

 (1.12)  
, . ,  
. 

 (1.11)  (1.12)  
:  

(1.13) 

 R .  
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 r  S< 1000  
 U /U  0,05  1,5  

 

(1.14) 

 U – ,  
, . 

 1000  r  
. 

 R  , , 
. 

, ,  

2. (1.15) 
 D  r – , . 

 0,3  
 0,6 . 

,  
,  

. 
,  r ,  

 (1.13) : 

(1. 16) 
,  

 R  ( ,  r ),  
 (1.14). 

 r  
 r . 

 
, , 

,  50% 
. 

 
 

 (1.13). 
,  I  

,  
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,  
. 

 

 1.3. ,  
, . 1.2. 

 380/220  3  25+1 16 2  
 400  ( . 1.3). 

 
. 1.3.  380/220  

.  – : 

)  1  (1.12) 

, 

 –  0,6 ,  R  R  [ 9] ; 

)  1 = 0,2  

 

. 

 r  (1.14) 

. 

 (1.11): 

)  1 

; 
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)  2 

. 

 (1.11): 

)  1 

; 

)  2 

. 

,  
. 

 1.4.  
 5 ,  

 
 28 . ,  

 130 ,  
 100  380/220  

. .  
 

.  

 
. 

.  [14]  
 

(1.17) 

 – , ; U  –  
, ; cos j – ,  0,7; h – 

,  0,8. 
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. 

 [  1.11)]: 

. 

: 

 

 a – ,  
.  

-2 a = 3  a = 2 . 

, 
 

. 

 160 . 

,  
I  = 76 ,  3? 16 2. 

 
.   

, 

 = 0 . 

 25 2,  46 2 
 

; 

=0 ; =0 . 
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. 

  

, 



20 
 

1.3. , ,  
 

, ,  
[8]. . . 1.4.  

 
. 1.4.  

 

 1.5. ,  
 ( . . 1.3). : 

 U  = 220 ;  “ ” r  = 10 ,  
 “ ” r  = 100 ;  “ ” r  = 1 ;  

 Rh = 1 . 

,  
 Ih = 6 . 

.  Ih, ,  [16] 

(1.18) 

. 

 I h = 4  < 6 . 
 1.6. ,  

 ( . . 1.3). : 
 U  = 380 ;  “ ” r  =  1  ;  
 “ ”  “ ” r  = r  = 0,5 ;  Rh 

= 1 . ,  
 I h = 6 . 



21 
 

.  (1.18),  I h  
 

(1.19) 

 = 0,4 .  

, ,  
. 

 (1.18)  (1.19) ,  
 

. 

1.4.  

 ( )  
 [8, 10, 14, 17].  

: 

– ,  
, ,  

 
. ,  

, ,  
; 

–  – , 
 

.  
 1000 ,  

, ,  
, , 

. 

, : , 
, ,  

, . 

, ,  
.  
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,  
,  

 
.  ( . 

1.5),  
. 

 

. 1.5.  

1 – ; 2 – ;  –  
;  – ; r  –  

; R  – ; r  – 
 

,  
,  

. 

 

(1.20) 

 U  – , ; 
R ,   – , ; a 1,a 2 – 

; R  –  
) . 

,  
 (  

 20 ). 

 



23 
 

 1.7.  380/220  ( . 1.5)  
 ( ).  

.  
 

,  U  
 60 .  

,  
. ,  

 U  = 30 ,  R  = 
400  = 200 . 

. ,  
, . ,  

 a 1=a 2=1. 

 (1.18)  
 

, 

 R =470 
, ,  

 60 . 

 1.8.  
:  R  = 7000 ; 

 R  = 2000 ;  
 I  = 3 10-3 . 

.  
 

(1.21) 

. 

 
 36 . 

1.5.   
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,  

, ,  
.  

, ,  [17]. 

 

 1.9.  
(R =10 ) ,  

 U = 380 ,  
 R N . 1.6). 

 
. 1.6.  

 

.  
 
 

 [17] 

(1.22) 

 R N – ; R  –  
 (  

), 

. 

 

(1.23) 

. 
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, . 

 1.10.  
(R  = 15 ) ,  

 U = 380 ,  
 R N=4 . 

.  
 (1.22) 

. 

 

. 

, 
. 

 

1.  12.1.009-76. . 
. .  

2.  12.1.019-78. . 
. .  

3.  12.1.030-81. .  
, .  

4.  12.2.038-88. . 
.  

.  
5.  12.4.155-85. .  

. . .  
6.  

-346 / ,  
. – .: , 1995.  

7. , . .  / . 
 // . – 1981. –  7.  

8. , .  / . 
. – .: , 1984.  

9. , .  / . . – 5- . – 
.: , 1982.  

10. .  / . . 
– .: , 1980.  
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11. . – .: , 1999.  
12.  50571.10-96. . . 5.  

. . 54.  
.  

13.  
 

. – .: , 1986.  
14. . :  

. –  2- . – .1 / . . . – :  
, 2002. – 96 .: .  

15. . :  
. –  2- . – .2 / . . . – :  

, 2002. – 84 .: . 
16.  (  

) / . , . , . . – .: , 1984.  
17. , . .  3- . / . 

. – 5- ., . . – .: , 1967.  
18. : .  2 / 

. . . – : , 2000.  
19. , .  

 1000 :  / . , . . – .: 
, 1988.  

2.  
 

, 
, . ,  

-  
, .  

,  
 

 ( , ), , . 
 

.  
 ( ). 

 
. 
 
 

.  
,  

 
. 
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 2.1. , , 
 845  

.  6  
. 

.  , ,  
 

(2.1) 

 q  – , % ( . 2.1); m –  
, ; c –  ( . 2.2); h  – 

, % ( . 2.3); 

. 

, ,  

(2.2) 

 – , , . 3;  
m – , , . 3 ; q1 –  

, % ( . 2.4). 

 2.1  ( ) 

 q , % S , % 
 

 
 28,0 3,5 18,50 

 31,0 4,4 6,45 
 39,0 4,2 9,88 
 32,6 0,7 18,94 

 13,2 0,4 22,93 
 6,7 0,2 15,54 

 
 50,5 1,6 11,34 

 54,2 1,5 9,50 
: 

 12,5 0,3 8,12 
 
 0,1 0,5 40,30 
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 0,1 1,9 39,85 
 0,1 4,1 38,89 

 0,025 0,3 42,75 
 0,02 0,3 42,46 

 
 – – 35,80 
 – – 36,10 

 – – 36,00 
 – – 37,43 

 – – 37,30 

, ,  
 

(2.3) 

 q2 – , 
% ( . 2.4); R – ,  

, R=1 – , R=0,5 – 

,  R=0,65  –   [1];  –  
 ( . 2.1); 

; 

 

 2.2  c  
 

  c  
  

  
  

 0,0026 

  
  

 0,0023 

 
 

 0,0035 

 
 

 0,0011 
 0,0011 

,  0,0011 
  0,0019 

  0,0019 
  0,0025 
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 0,010 
,   

  
– 

 

 2.3  
  

 2.4  

  q2, % q1, % 
  0,5 13,5/10 

  1,0 2,0 
 

  

 

 0,5–1 13,5/10 
  

  
0,5–1 9/7,5 

  
  

0,5–1 6/3 

 0,5–1 5,5/3 
 
 

2  

 3 3 

 
 

 0,5 5/3 
 0,5 3/1,5 

 0,5 3/1,5 
  0,5 0,5 

 0,5 0,5 

, ,  

, (2.4) 

 – , , 
 1 ,  ( . 2.5); b – ,  

,   
 h , % 

-2 85 
-24 93 

-150  93–95 
 97–99 

 88–90 
 75–85 

-15 85–90 
-10 90 
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 NO2  
,  b = 0, 

. 

 2.5 NO2  

 
,  

NO2 
 

,  
 

 
 

 
4,0 0,099 0,13 0,198 0,215 
6,0 0,1 0,135 0,165 0,225 
8,0 0,102 0,138 0,213 0,228 
10,0 0,103 0,14 0,215 0,235 
15,0 0,108 0,15 0,225 0,248 
20,0 0,109 0,155 0,23 0,25 
25,0 0,11 0,158 0,235 0,255 
30,0 0,115 0,16 0,24 0,26 

, , : 

, (2.5) 

 S  – , % ( . 2.1); –  
, .  

 0,8;  – 0,5; -
 – 0,2;  – 0,5;  – 0,02;  

 – 0,1;  – 0,15;  – 0,2 [1]; – , 
;  

 0. 
  

. 
 90% ,  

 – 
0,85 .  

. , NOx, SO  
. 

 2.2.  ( )  
.  7 

 25  15 . 
 

 600 ,  – 400 . 
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.  i- , ,  j-  
 

, (2.6) 

 –  i- ,  

. 2.6); t  – , ; –  
 i-  10–20 

,  ( . 2.6); L –  

, )  10–20 ; – 
 i- , 

 ( . 2.6); t  = 5  –  
, . 

 
 20 .  

 

.  2.6  [1] 
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 30 .  

 

. 

 
 

 

 
 – 8,02 .  ( )  1 3.  

 
 

. 

 2.3.  
 300, 350, 400 .  

 6 ,  – 258 .  
-15. 

. , ,  
 

(2.7) 

 gi –  
 1 ,  ( . 2.7); t – , ; n – 

; k – , 

; 

; 

. 

 

(2.8) 
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 – ,  
; h  – , % ( . 2.8). 
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 2.7  
 1 ,  [1]  

  
  

  
  

 

,   

  
,   

 
 

 
150 0,0325 
300 0,043 
350 0,047 
400 0,05 
600 0,065 
750 0,075 
900 0,086 

 
 

 
175 0,036 
250 0,042 
250 0,05 
400 0,055 
450 0,059 
500 0,063 

 
 

 
30–100 0,0126 
400–500 0,019 
480–600 0,025 

  
 

100 0,0097 
150 0,01 
200 0,02 
250 0,037 
300 0,038 
350 0,041 
400 0,0475 
450 0,054 
500 0,06 
550 0,067 
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 2.8   

 [1]  

,   
 

 h  , 
% 

–15 80–85 
-33, -34 85–93 

 85–90 
 82–90 

 99  
 ( ) 93–96 

-900, 212 95 
 70–80 

, , 

, (2.9) 

 N = 256 –  
; N1 – , 

; 

. 

 80% , 
.  

– . . 

 2.4.  NO2,  
.  1653 ,  

 1,07.  – 10,85 , 
 N  = 0,5%.  

 V0 = 2,86 3 . : = 

0,56 3 , = 2,27 3 , = 0,60 3 .  918 3. 

. , 3 , 
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(2.10) 

3 . 

, 3 , 

, (2.11) 

3 . 

, 3/( ? 
), 

(2.12) 

 R = 8,31441 103 – , /( ); 

. 

, 3, 

(2.13) 

 = 9,81 104  – . 

. 

, 3, 

(2.14) 

.
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, 3,  

(2.15) 

. 

, 3, 

(2.16) 

. 

, 3, 

(2.17) 

 b – , b = 0,02 ; b = 
0,4 ; b = 0,5  [3]; 

. 

, , 

(2.18) 

 

: 

; (2. 
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.19) 

 NO 

, (2.20) 

. 

 NO, 3, 

(2.21) 

. 

 NO2  NO  NO2, 3, 

(2.22) 

. 

 
 474 3 .  

.  

3.  
 –  ( , 

, , .).  
 

: ,  
.  

,  
, ,  

, , , .  
 

) .  ( ),  
,  
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, ,  
, . ,  

,  
,  

,  
, , , ,  

.  
 

 –  
,  

.  
, , , 

, ,  
. 

,  
, , .  

.  
, , 

,  
. 

,  
,  

,  
, .  

 
 – ,  

, . 
 

: 
–  

; 
–  

; 
– ; 
–  

 ( ). 
 

,  
 –  –  

.  
: ,  

. 
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: , , ,  
. 

 

 3.1.  
 ( )  

 12.1.012-90,  
;  

 10 ;  Q = 13860 ,  
 Q  = 11300 ,  f = 50 ;  

 = 5200 ;  
 = 0,5 ;  6  2,2 ;  

, . 

. . . 3.1. 

 

. 3.1. : 

1 – ; 2 – ; 3 – 
; 4 –  ( ); 

5 –  

, ,  
 

(3.1) 

 w = 2p f – , –1, 

. 
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, , 

(3.2) 

 –  0,5 , 

. 

, ,  

, (3.3) 

. 

 

(3.4) 

 

, , ,  

(3.5) 

. 

 
: 

 , 2,  

(3.6) 
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 R  =  2 105  –  
 ( . 3.1),  

2; 

 , ,  

, (3.7) 

Z = 40 3 –  (   

R = 1 2 105 ; Z = 20 2; R = 2CZ = 40 ; R = 3CZ = 50 ; R = 4CZ = 60 
; R = 5 Z = 70 );  

; 

 , ,  

, (3.8) 

 , 

. 

 3.1  

  
, 2 105  

:  
– ;  
–   

3,5... 4,5  
2,5... 3,5  

:  
– ;  
–   

2,0...3,0  
2,5...4,5  

:  
– ;  
– ;  
–   

2,0...2,5  
1,5... 2,0  
1,0...1,5  

:  
– 0,5;  
– 0,7  

3,0  
2,0  
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:  
– 0,5;  
– 0,7;  
– 1,0  

2,5...3,0  
1,8...2,5  
1,0…2,0  

, , 

, (3.9) 

  > . 

  
 50 . 3.2. 

 3.2  

 
,  

  
  

  
  

  
2  
4  
8  
16  
31,5  
63  

1,4  
0,25  
0,063  
0,0282  
0,0141  
0,0072  

0,57  
0,1  
0,025  
0,0112  
0,0056  
0,0028  

 
.  

 ( ). 

 
,  

,  

(3.10) 
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 – ; Qo –  
 ( ) , . 

,  3000 , 
 

 

. 

 Q  = 140000 . 

, , 

(3.11) 

                                         , 

, 

 (3.9): 

 < . 

 
 

. 

 3.2.  
,  

 1,5  1,0  
0,1 ,  3300 ,  63  V = 0,08 

,  – .  
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.  ( . 3.2). 

 

. 3.2.  

 12.1.012-90  
 63  V  = 0,002 . 

, , 

(3.12) 

 Q  –  700 ; Q  –  
, , 

. 

 
, , 

(3.13) 

. 

 
 (3.3) 

. 

 
(3.2) 
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. 

 nn = 4. 

, , 

(3.14) 

. 

, , 

, 

. 

, ,  

 

, 

 N – ,  ( . 3.3);  = D/d = 7 – 
 (  

4...10); [t ] –  (  » 
3,0...4,5 08 ). 
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. 3.3.  N  = D/d 

: 

 

 s –  (  8 06), 

. 

 i < 7  i2 = 1,5  
,  i > 7 – i2 = 2,5 .  I = i1+ i2 = 

1,62 + 1,5 = 3,12. 

, , 

 

 h1 = 0,25...0,5D; D –  (D =  d = 7 0,73 = 5,11 ). 

. 

 h1 = 0,3 D = 0,3 ? 5,11 = 1,53 . 

, , 
, /D 1,5, . 3,94/5,11 = 0,77< 1,5. 

. 
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 3.3.  
 100 , ,  

 5 .  

.  ( . 3.4). 

 

. 3.4.  

, , 

 

. 

: 

, 

. 

 

 

» . 

 5  3%  
 100 ,  97 % – . 

 3.4.  1000  
 n=3000 . 

.  ( . 3.5). 
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. 3.5.  

 4 .  
 5000 . 

                    . 

. 

, , 

 

 h –  (  h = 6 ), 

, 

 
(3.3) 

. 

, fo =17  < 50  3 . 

 

 

. 

, 2,  



50 
 

 

 s – , 2, 

2. 

 8. 

 

2. 

 4  5 . 

,  
 fo. 

 3.5.  
 12.1.012-90,  

 
 10 ;  Q = 13860 , .  Q  

= 11300 ;  50 ;  
 = 5200 ;  = 0,05 ; 

 6  2,2 ; . 

.  ( . 3.6). 

 

. 3.6.  
: 1 – ; 2 –  

; 3 – ; 4 – 
 

, , 
 (3.1) 
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. 

: 

 , 2, (  
=60 104 )  

 

2; 

 , ,  

 

 h – ; V–  
, 3;  

. 

 
 (3.4) 

 

, ,  
 (3.5) 

. 

 
 (3.9) 

 = 0,0062  < . 
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. 

 3.6.  
,  

 1,5  1,0  0,1  3300 
;  63  V = 0,08 ; 

. 

.  4 
,  3311 ( . 3.3). 

 3.3 ,  
  
  

, 1 105  
  

 n  
  

-
1347 

54 33 0,09 

2566 38 24 0,11 
-

363 
153 51 0,15 

8508 126 31 0,15 
4326 226 60 0,16 

068 166 39 0,17 
199 196 40 0,208 
122 206 73 0,21 
9831 166 36 0,25 
3826 236 46 0,30 
25424 314 46,5 0,32 
3311 250 16 0,038 
2959 63 30 0,14 
56 72 37 0,16 

 ( . 3.7). 

 

. 3.7.  
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, 2, 

 

 Q  =  Q  +Q  = 3300+4000 ; Q  –  ;  Q  – , 
 Q  = 700 ;  s  = 2...4 105  –  

 (  s = 3 105 ), 

2. 

 

 

2. 

, 2, 

 

 fo – , ,  

(3.15) 

 m –   

 

V  0,002 , 

 

 , 
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 2. 

 ( ) 
 

(3.16) 

. 

 = 3 . 

 –  5,8 ,  
S  = 33,64 2. 

: 

(3.17) 

. 

 
 < d < 1,5...2,0 . 

, 2, 

(3.18) 

2. 

, , 
:  

(3.19) 
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. 

 (3.4) 

 

, ,  
 

(3.20) 

 < /c. 

 
. 

 3.7.  
,  = 1300 ;  

 n = 850 ;  
) N = 4 . z = 0,12 . 

.  ( . 3.8). 

 

. 3.8.  
 

 
 4;  [t ] = 4,2 103 2;  

 s = 8 105 2;  = 4,  = 1,4. 
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, , 

(3.21) 

, 

 f/fo = 4, , , 

(3.22) 

. 

, , 

(3.23) 

 m – , , 

 

, 

. 

, , 

 

. 

, ,  
: 

, 
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. 

: 

, (3.24) 

 Vo –  (Vo = 0,002 
), V –  (V = 

0,09 ); 

. 

, ,  
  

(3.25) 

. 

 

(3.26) 

. 

: 

 i 
< 7 

i  = i + 1,5   

 i 
> 7 

i  = i + 2,5 i = 13 + 2,5 = 15,5. 

, , 
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, (3.27) 

. 

 (3.4) 

 

 f/f > 1,4,  
. 

 3.8.  
,  = 260 ;  

 n = 850 ;  
Z = 0,0028 ;  

 
 ( ); 

 [t ] = 
4,2 103 2;  s = 8 105 2;  = 4;  = 1,4.  

.  ( . 3.9). 

 

. 3.9. : 1 – ; 2 – 
; 3 –  

 f/f  = 3. 

 (3.21) 

. 
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 (3.20) 

. 

, , 

(3.28) 

. 

, , 

(3.29) 

. 

, , 

 
1 – , ,  

 

 

 ; , 

 , 

. 

 (3.26): 
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 d –  12.1.012-90  0,5 . 

  

 i > 7 in = i + 2,5; 

 i < 7 in = i + 1,5: 

 in = i + 2,5 = 13,64 + 2,5 = 16,14. 

, : 

 

. 

 (3.4) 

. 

, , 

, (3.30) 

. 

 18  
 12.1.012-90. 

 3.9. ,  
 f,  

;  
;  = 5 

. 

.  



61 
 

 

 f/f ? 3 : 

. (3.31) 

 

(3.32) 

,  )  ¦ =5/ ,  
 (3.32) 

. 

,  
 6 . 

 3.10.  m = 2000  
Z = 18 105 ; 

 n = 750 .  
 12.1.012-90. 

. , –1, 

(3.33) 

–1. 

, , 

(3.34) 
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. 

, –

1, : 

-1. 

, ,  sin w t = 1: 

(3.35) 

. 

, ,  (3.33) 

 

. 

 12,5  ¦ 
 = 16  (  12.1.012-90). 

, ,  

(3.36) 

. 

, , 

 

. 



63 
 

, ,  f . 
= 16 . 

, , 

(3.37) 

. 

, , : 

(3.38) 

. 

 37  16  
 12.1.012-90. 

: 

1. .  
 / . , . , . . – .: 

, 1981.  
2. , .  / 

. . – .: , 1984.  
3. :  

 / . . . – .: , 1985.  
4. , .  / . , . 
, . . – .: , 1991.  

5.  
 / . . – .: , 1972.  

6. , .  
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4.  
 

,  
,  

.  
,  

.  
, .  

 
. 

 
.  

. 
 
 

. 

 

 4.1. ,  
 90  

.   = 5 ,  
 = 85 .  h = 5 ,   = 8 .  

  = 2 . 

.  ( . 4.1). 

 

. 4.1. :  –  
;  – ; h –  

;  – ;  –  

,  
 [1; 2]: 
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–  

; (4.1) 

–  

(4.2) 

 l – ,  ( ). 

 
. 

 
 31,5; 63; 125; 250; 500; 1000; 2000; 4000; 

8000 . 

 31,5  

. 

. 

 ( . 4.2)  D L  31,5 , D 
L  = 10 . 
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. 4.2.  

. 4.1. 

 4.1  

 

 

,  
31,5 63 125 250 500 1000 2000 4000 8000 

 

10,8 5,4 2,72 1,36 0,68 0,34 0,17 0,085 0,048 

 0,57 2,62 3,65 5,13 7,41 10,26 14,8 20,5 29,0 
D L  10 21 24 27,1 30 30 30 30 30 

 12.1.003-83 : 
. 

 4.2.  L  
 

 (  = 30 ) . 4.2. 

 4.2  

  
,   

31,5 63 125 250 500 1000 2000 4000 8000 

  
, ,  

-  
  

70 60 62 60 55 51 50 46 38 

  
  

72 67 57 49 44 40 37 35 33 

,  
,  = 3 . 

 ( )  ( ) 
. 

 ( -
)  = 20 . 

. ,  
 ( . 4.3). 
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. 4.3.  
 

 ( .  4.1),  
. 4.2  D L.  

 ( . 4.3).  

 4.3  

 
  

,   

31,5 63 125 250 500 1000 2000 4000 8000 

l  10,8 5,40 2,72 1,36 0,68 0,34 0,17 0,085 0,04
3 

M  0,001 0,18 0,25 0,35 0,49 0,70 0,99 1,40 1,97 
L 55 60 62 60 55 51 50 46 38 
D L 5 7 8 9 10 12 14 17 19 
L – D L 50 53 54 51 45 39 36 29 19 
L  83 67 57 49 44 40 37 35 33 

 – – – 2 1 – – – – 

,  
 250  500 ,  

. ,  
. 

 4.3.  
, , 

 280 . , 
,  100 .  

 
 18 . 

.  
 

(4.3) 
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 L  – ,  
), ; D L  –  

,  
. 4.4); L  –  

,  ( . 4.4). 

 

. 4.4.  
 

 4.4  

  
  

,  
  

 D L,  
  

 12 5 
 18 8 
 23 10 

 28 12 

 (4.3) 

. 

 
  

(4.4) 

 L  – , , 
 II-12-77 “ ”. 

 D L  = 60 – 35 = 25 . 
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,  
 ( ), 

. 4.5.  

 

 4.5  

  

 
   

  
)  

I  
  

II  
  

III  
  

IV  
  

 ( - 
 

),  

 10 25 40 50 >50 

 
. 

 4.4. , 
 90 ,  

, .  
, . 4.1  

 4.1.   
 30 . 

. , ,  
,  

 

(4.5) 
 b 2 – , ,  

 
(4.6) 

 b 1 – ,  
, ; r2 –  

, ; D – ,  
,  

(4.7) 
 f – ,  ( ) D b  – 

,  (4.1)  
(4.2), ; D b  – ,  

 1000  [1]: 
. 

.  
 

 1000 .  
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 (90 )  b 2  
 (4.6).  b 1  [1, . 48]: 

. 

 4.1  30 . 
: 

. 
 4.5.  

 L  = 45 .  
 23  7 .  

.  L  = 45 
 ( . 4.6). 

 4.6  

 

 
. 4.6.  

 – ,  
 L  = – 5  ( . 4.7) 

 4.7  
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,    
  

    
  

0  
–5  

  
  

  
  

,   
 ( )   

–5  
0  
5  

  
  

  
  

  

, %,   
 30 :  

56 ;  
18–56  
8  

 6  

0  
5  
10  
15  

, . 4.7,  
,  

, . 

 
 . 

,  
, . 4.7: L  = + 5 . 

, ,  

 

. 

,  
  

 4.6. , -
 ( ),  

. 
, , 

: 

  
,   

125 250 500 1000 2000 4000 

 D L,  6 10 14 15 14 13 
 

. 
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.  
.  

: 

, (4.8) 
 a 1  a  2 –  

 ( . 4.8  4.9); S – , 2. 
 a 2 ,  

: 

. (4.9) 
 4.8  a 1   

  
 ,  

125 250 500 1000 2000 4000 
 0,01 0,01 0,02 0,02 0,03 0,04 

 0,18 0,11 0,19 0,39 0,95 0,56 
 

 
0,15 0,11 0,10 0,07 0,06 0,07 

 0,04 0,04 0,07 0,06 0,06 0,07 
 0,02 0,02 0,03 0,03 0,04 0,04 
 

 
0,10 0,10 0,10 0,08 0,06 0,06 

 
 

0,02 0,03 0,03 0,04 0,05 0,07 

 
 

 

0,01 0,01 0,02 0,02 0,03 0,03 

 0,02 0,05 0,06 0,08 0,05 0,05 
 0,01 0,01 0,01 0,01 0,02 0,02 

 0,35 0,25 0,18 0,12 0,0,07 0,04 
 4.9  a 2  

 
 

 
,  

125 250 500 1000 2000 4000 
 
 

, 
 

 (  20 ) 

0,1 0,17 0,68 0,98 0,86 0,45 

,  
 50  

0,05 0,42 0,98 0,90 0,79 0,45 

, 
 

0,05 0,33 0,60 0,88 0,58 0,70 



73 
 

 (  30 ) 
,  

 50  
0,15 0,68 0,79 0,61 0,60 0,63 

 
 

 “ ”, 
 

 (  20 ) 

0,04 0,20 0,59 1,00 0,93 0,81 

,  
 50  

0,25 0,66 0,91 0,93 1,00 0,90 

,  
 200  

0,75 0,87 0,70 0,87 1,00 1,00 

 
”,  

 (  
45 ) 

0,18 0,34 0,63 0,95 0,85 0,97 

,  
 50  

0,20 0,62 0,92 0,81 0,86 0,96 

,  
 100  

0,30 0,87 0,96 0,65 0,90 0,98 

 
 

”  10 , 
 
 

 6  

0,05 0,10 0,60 0,80 0,85 0,80 

, 
 

 

0,05 0,10 0,60 0,80 0,85 0,80 

. 4.10 
 4.10  

,  
125 250 500 1000 2000 4000 

a 1 0,01 0,01 0,02 0,02 0,03 0,03 
D  6 10 14 15 14 13 
a 2 0,04 0,1 0,50 0,63 0,75 0,60 

. 4.9  
 a 2 . , 

.  
,  

.  
)  (± 2 ). 
 4.7.  

150 ,  110  1  
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. . 
4.11.  

.  102  
.  2  

,  
, . 

.  b 2, ,  
 r2  (4.10),  b 

1  1  D  
. (4.10) 

 
 

, (4.11) 
 f – ,  ( ). 

 
. 

  
 

,   

31,5 63 125 250 500 1000 2000 4000 8000 

, 
 

0 0 0,7 1,5 3 6 12 24 48 

, ,  
 2  [1, 

. 2, . 7]  (+5 ). 
. 4.11.  

 
 , 

 
63 125 250 50

0 
1000 2000 4000 8000 

,  
 1  

 
 

90 95 97 108 90 85 75 70 

 100   
 2  
  

42 47 49 60 42 37 27 22 

 
2  

  
 

68 57 50 44 40 37 35 33 

 
 

– – – 16 2 – – – 
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. 4.11,  
 500  1000 .  

 500 .  
. 

 
,  150  (0,15 ).  

 

 = p d = 3,14 0,15 = 0,47 . 

 

2. 

 
 50 . ,  

,  [1, . 22]. 

 

. 

 4.8.  
,  

 280 2 (1/2 );  
 6  

 5 .  – 15 2,  – 7 2. 
. 

. . 4.12 , 
.  f  f . 

 4.12   

   
 300 2)  

 R  = R ,  f ,  f ,  
 40 24000  

G  
26000  
G  

 29 67000  
G  

73000  
G  
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,  38 1900  
G  

65000  
G  

 29 6700  
G  

43000  
G  

 37 19000  
G  

85000  
G  

 37 1700  
G  

77000  
G  

 27 5300  
G  

53000  
G  

 19 2100  
G  

13600  
G  

 280 2 
R  = R  = 37 ;  
f  = 1700:280 » 61 ;  
f  = 77000:280=275 .  

 15 2: 

R =R  = 27 ;  
f  = 5300:15» 353 ;  
f  = 53000:15» 353 .  

 7 2: 

R =R  = 19 ;  
f  = 2100:7 = 300 ;  
f  = 13600:7 = 1800 .  

 ( . 4.5),  
. 
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. 4.5.  
: 1 – ; 2 – 

; 3 –  

 
. 4.13 (  

. 4.5). 
,  

, ,  
, .  

 [1, . 4,  2] (  4  
; , ). 

 

 

 

 

 4.13   

  
 , 

 
63 125 250 500 1000 2000 4000 8000 

,  
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 (  
) 

85 89 93 98 96 95 86 82 

 
 4   

 (  
 

) 

83 74 68 63 60 57 55 54 

 
 

 

2 15 25 35 36 38 31 28 

 
 

. 4.5 (  
 

):  
) ;  
)   

12  
–  

17  
11  

23  
17  

27  
19  

27  
19  

27  
22  

31  
30  

42  
37  

 
 

:  
)  ( . 1 – . 2 – . 4, );  
)  ( . 1 – . 2 – .4, )  

–  
2  

–  
4  

2  
8  

8  
16  

9  
17  

11  
16  

–  
1  

–  
–  

. 4.13  
 38 ,  16  

 [1, . 2].  
 17 ,  –  9 

, .  3,2  2 
. ,  

 
.  

 4.9.  ( ) 
 

 g 1 = 1300 3  h1 = 8 .  
d = 6 .  

 g 2 = 2400 3,  
h2 = 10 . 

.  
. ,  

,  
, ,  

, . 



79 
 

 R  ( . 
4.5). 

 R . 
 fo, , 

, (4.12) 

 ¦ o – , , ; g 1 – 
, 3; g 2 – 

 ( ), 
, 3;  h1 – 

, ; h2 –  
, ;  

d – , ; 1 – 
 

,  ( . 4.14). 

 4.14  
  

 1,  1,  
,  3,7 105  2,3 105 

 5,0 105 
 4,0 105  5,2 105 

 5,0 105  1,4 105 

 1 2 : 

2. 

. 4.12 :
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; ; 

. 

 
 ( . 4.6). 

 D R 
. 4.14  (4.12)  

. 

  

; ; 

; , 

: 

; ; 

; . 

 ( . 4.6)  b  ,  
bc.  b  d.  b  

 ,    –  d. 
 

 (R? =R+D R) ', ' ' , '  ' .  
,  

,  
.  500 

 1,8 ,  – 2...2,5 . 
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. 4.6.  
: 

R – ; D R –  
 

; R' –  

 4.10.  
4-70 6  b  b 

, , ,  48 2, 
 – 6000 3 ,  –950 ./ . 

 d =0. 

.  b , 
,  

, (4.13) 

 b – ,  
,  ( . 4.15);  – , , 

2; Q – , 3 ; d –  
. 

 (4.13) . 4.15 : 

; 



82 
 

. 

 4.15  b  

  
4-70,  
4-76  

,  
13-50  

9-55,  
9-57  

 -4  

 41 44,5 47,5 48 46 43 
 38 40,0 43,5 40 46 43 

,  
 

, – b  

, (4,14) 

 b  – , ; D b 1 – 
,  

,  (  
. 4.16). 

. 4.17. 

 4.16  D b 1,    
,   

 

 

 
 

 

 
,  

63 125 250 500 1000 2000 4000 8000 
 350–690 8 9 5 7 10 16 23 30 

700–1400 13 8 9 5 7 10 16 23 
1410–2800 18 13 8 9 5 7 10 16 

 2800 18 18 13 8 9 5 7 10 
 

, 
 

 

350–690 6 6 9 13 17 21 26 31 
700–1400 6 6 6 9 13 17 21 26 
1410–2800 6 6 6 6 9 13 17 21 

 2800 6 6 6 6 6 9 13 17 
 

, 
 

 

350–690 7 5 6 9 16 21 26 31 
700–1400 11 7 5 6 9 16 21 26 
1410–2800 15 11 7 5 6 9 16 21 

 2800 15 15 11 7 5 6 9 16 
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 4.17 , 
  

 

/
 

  
,  

6
3 

12
5 

25
0 

50
0 

100
0 

200
0 

400
0 

8000 

1  D b 1 (  
4-70, n=950 , 

, 
) 

6 6 6 9 13 17 21 26 

2  
 b'   

  
(b . – .1), ;  

  
(b . – .1),   

7
5  
7
8  

75  
78  

75  
78  

72  
75  

68  
71  

64  
67  

60  
63  

55  
58  

, ,  
 b" ,  

, (4.15) 

 D b 2 – ,  
,  ( . 4.18). 

 4.18  D b 2,  
,  

 
 
 

  
  

,   

,  
63 125 250 500 1000 2000 4000 8000 

100 23,5 18,0 13,0 7,5 3,0 0,5 0 0 
140 21,0 15,0 10,5 5,5 1,5 0 0 0 
200 18,0 13,0 7,5 3,0 1,0 0 0 0 
250 16,0 11,0 6,0 2,0 0,5 0 0 0 
315 14,5 9,5 4,5 1,0 0 0 0 0 
400 12,5 7,5 3,0 0,5 0 0 0 0 
500 11,0 6,0 2,0 0,5 0 0 0 0 
630 9,5 5,0 1,0 0 0 0 0 0 
800 7,5 3,0 1,0 0 0 0 0 0 
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900 7,0 3,0 0,5 0 0 0 0 0 
1000 6,0 2,0 0,5 0 0 0 0 0 

 

1.  (  
) / . , . , . . – .: , 1984.  

2. , .  – 
3- ., . . / . . – .: , 1973.  
3.  2.2.4/2.1.8.562-96. , , 

. – ., 1996.  
4.  12.1.003-83. . . . . 
01.07.84. – .: , 1985.  
5.  II-12-77. . . 01.07.88. – .: , 1977.  
6.  / . . . – .: 

, 1985.  

5.  

 
 

. 
, 

,  
.  

 ( ) ,  
, , , 

, ,  
. 

 
 

;  
 [1]. 

.  
, , 

.  
, , 

.  
,  

, .  
 – ;  

.  
 

, ,  
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. ,  
,  2.04.05-86 [2]. 

, 
,  

 
, 12.1.005-88,  245-

71 . 
, .  

.  
 ( )  ( ) 

. ,  
.  

 
. , ,  

.  
,  –  

) .  
,  ( ) .  

 
 ( ,  

).  ( )  
 

. 
,  

 
 ( ) .  

 
 [2]. 

 

 5.1.  S Q  
, 

 0,7 3 .  4000 3. 
 18 .  

 t  = – 15 . 

.  
  

(5.1) 

 a – ,  
[3, . 11.7], a = 1,08; qV – ,  

 [3, . 6]; V  –  
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, 3;  t  –  
, , 

. 

 5.2.  
: F = 500 2; S = 120 

2; V  = 1300 3; d = 0,3. 

.  qV  (5.2),  
, 

, (5.2) 

 d – ; F – 
, 2; S – , 2; V  – , 

3, 

3? . 

 qV  [3, . 6], . 
. 

 5.3.  
 36 ,  

 F = 220 2.  
 k = 2,5 2 .  t  = 20 ; 

 t  = –30 . , 
, q  = 100 . 

.  Q  
: 

, (5.3) 

 Q  Q  – , . 

 
 

(5.4) 



87 
 

 k – , 2 ; F –  
, 2; (t  – t ) – , . 

, ,  
 

(5.5) 

 N – . 

  

. 

 5.4.  F 
= 200 2.  2,5 2 . 

 t  = – 40 ;  t  = 
20 .  k  = 10 2 , 

 t2 = 90 ,  t1 = 70 
.  

.  

.  
 

: 

(5.6) 

 

. (5.7) 

, : 

= 150 2. 

 
 5.5.  

 L = 28000 
3  t  = –18  t  = 20 . 

:  tr = 130  t  = 70 . 
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.  ( )  t  = 
+20 : 

3. 
, , 

 
. 

 = 8 /(  ),  
, 2,  

 

2. 
 [3, . 17] -9  

 
2. 

, /( 2 ),  
: 

 

/( 2 ). 
, ,  

 

 

. 
 [3, . 19]  = 9,6 /( 2 ),  mp = 0,137 ,  

 = 20,8 /( 2 ). 
, 2,  

 
  – ; t  –  

, 

2. 
 

-9 F  = 41,6 2: 
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. 
,  

11 %, . 
 

 5.7.  
 10 .  – 12 ,  – 18 

,  – 80 %.  
. 

.  I – d  [4]  
: d  = 7  d  = 

10,3 .  

 
  

, 

. 

 5.8. .  
 =  14   –1.  

 10 , . m = 10. 
 

,  6 
–1. 

. : 

–1. 

: 
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,  
 [4] 

(5.8) 

 m –  ( ),  
; n –  

: 

 = 9,1 . 

,  9,1  
. 

 5.9.  tc = 17 °C, t  = 12 °C,  = 101325 , 
V = 0,2 . . 

.  
:  t  = 12 ° C,  = 1400 ,  tc = 17 °C, . = 

1920  [4]. , , : 

 

. 

 [4,  (1.6)]: 

 

 

 
 

. 

 5.10.  
 50 .  V = 1000 3. ,  

 t  
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: 2,  
, 23 ; 2 2 = 2 

3; 2  ( ) 1 = 0,6 3.  

. 2,  
: 

. 

 [4,  (II.7)] t = V ( 2 – 1)/G  
: 

. 

,  1,21  (73 
) . 

 5.11.  
 3000 3  35 

2. . 

. 4-70  
 [4] ,  

 5.  
,  3000 3 ,  
,  35 2.  

 h  = 0,69. 

 

 

 L – , 3 ;  – ,  
, 2; h  – ; h  –  (  

 h  = 1). 

, : 

. 

 5.12. ,  
,  185000 .  
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,  
 = 8 , t  = 23,3 ° , t  = 31,3 ° , t  = 20,3 ° .  

 F1  F2  1,25. 

.  [4,  (I .19)]  
,  

 r  = r  = 1,16 3  r  = 1,204 3 

 

. 

 t : 

°  3. 

  

. 

 [4,  (I .16)  (I .17)] : 

2; 

2. 

 5.13. , 
 

. :  = 3,5 ,  = 2,5 .  
 t  = 

–20 ° ; t  = –10 ° ; 

.  [4,  ( II.7)] , ,  
,  Z = 4 :  
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. 

, 3 , : 

 

3 . 

:  = 0,1 ; 
 a = 30° (  a = 0,2).  

 [4,  ( II.5)]  = 0,2, a = 30°  
 j = 0,41. 

: 

 

 

  = 0,6; , 3 , 

 

3 . 

: 

 

. 

, , 3 , 
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3 . 

, : 

 

° . 

 t  = 0 °  
: 

 

° . 

 

. 

 t  = 0 ° : 

3 . 

: 

 

 

 5.14.  
 

. : t  = –26 ° ; r  = 1,43 3; h  = 9 ; t  = 
16 ° ; r  = 1,22 3; h  = 3 ;  = 2,5 ; F  = 2 2;  
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 n = 1000 ;  = 0,38; m  = 0,1 ; t  
= 50° . 

. ,  
 

 

. 

, , 

 

. 

, , :  

 

. 

 5.15.  
,  Q  35000 3 .  

, . 

.  q= 
50 3 2  . 

, 2, 

 

2. 

 [5, . I.6] -
90,  75 2,  
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. 

 10  
 900 2   

2. 

 

3 2  , 

. . 

 

 

1.  / . . . – .: . ., 
1999.  
2.  2.04.05-86. , .  
3. , . ,  / . 

. – .: , 1986.  
4. , . . .II.  / . . – 

.: . ., 1988.  
5.  / . . 

. – .: , 1985.  

 

6.  

 
.  

: ; 
; 
; 
 

;  
; , 

;  
;  

 ( ),  
.  
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,  
, . 

,  
. 

: , 
, , .  

: , , ; 
, .  

 
 

, ,  
;  

, , . 
 
 

.  
 

,  
.  
 ( ) ;  

;  
. 

,  
. 

 
 6.1. , 

,  
 700. 

. ,  
, ,  ( , , 

)  
 5 : 

, (6.1) 

 – ; c – , 2; g – 
, 3; c  g , . 6.1; 

– ,  1,5–3. 
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 6.1  g ;   
 c;   

  
, 3 ,  ,  

 1750–2200 3–13 21–28 
 1650–2100 15–39 17–24 

 1750–2300 32–57 11–18 
 1300–1800 1–3 35–40 

  = 15  = 1500 2; j = 170; g = 1650 3; 

=1,5 

= . 

, (6.2) 

 j  – , ; j – , , 
. 6.1, 

. 

 j  
. 6.2. 

 6.2  , ,   
 

  
   

 45 35 15 
:  

  
  

50  
40  

40  
30  

30  
20  

:  
  
  
  

25  
28  
30  

30  
35  
32  

20  
25  
27  

: 40 35 25 
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35 45 27 

 40 40 35 
 35 45 25 

, ,  

, (6.3) 

 a – , , 

. 

 
H  1,2–2,  1,25: 

, (6.4) 

, , .  
,  

,  1,78 . 

 6.2.  
. 

:  – 10 ,  – . 

.  
. . . : 

 
;  

,  
 [2]. 

 Fp  : 
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, (6.5) 

 – ;  

; (6.6) 

g – , 3; z –  
, ; j – , ;  –  

, . 

 z  
 a z,  

 . . 6.3 
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 6.3  

z, 
 

g , 
3 

, 

2 

tg j  , 
 

  

a z = 

 

1 20,0 20,0 0,42 38 1,9 2,32 67°  
2 20,0 40,0 0,42 38 0,95 1,37 54°  
3 20,0 60,0 0,42 38 0,63 1,05 46°  
4 20,0 80,0 0,42 38 0,48 0,9 42°  
5 20,0 100,0 0,42 38 0,38 0,8 39°  
6 20,0 120,0 0,42 38 0,32 0,74 37°  
7 20,0 140,0 0,42 38 0,27 0,69 35°  
8 20,0 160,0 0,42 38 0,24 0,66 33°  
9 20,0 180,0 0,42 38 0,21 0,63 32°  
10 20,0 200,0 0,42 38 0,19 0,61 31°  

 a z,  
 ( . 6.1). 

 

. 6.1.  10  

,  
 10 . 
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 6.3.  
 9  4 . 

.  
, . .  [ 1] : 

, (6.7) 

 g  –  ,  3; z –  
, ; j – , ; p – 

, ;  – , 
. 

. 6.1   = 19 ; j = 170; g = 19,5 3. 

 z  
 . 

 (6.7): 

3 , 

. 

 z . 6.4. 

z,  
 

56,6+ 

+  

  

. 3 – 

– . 5 

0,55  
. 6 

1 2 3 4 5 6 7 
1 5,97 62,57 26,19 62,04 0,53 0,29 
2 11,94 68,54 32,16 65,94 2,6 1,43 
3 17,91 74,51 38,13 69,18 5,33 2,93 
4 23,88 80,48 44,09 71,94 8,54 4,7 
5 29,85 86,45 50,06 74,35 12,1 6,66 
6 35,82 92,42 56,03 76,49 15,93 8,76 
7 41,79 98,39 61,99 78,41 19,98 10,99 
8 47,76 104,36 67,96 80,16 24,2 13,31 
9 53,73 110,33 73,93 81,76 28,57 15,71 



103 
 

 6.4  

. 6.4  ( . 6.2). 

 

. 6.2.  
 9  

,  
 9  4 . 

 6.4.  
.  

. 6.5. :  – 5 ,  
 ( ) – 2,8 . :  – 2 ,  – 0,8 . 

 6.5  

 
di,  

0,005  
0,05 

0,05  
0,1 

0,1  
0,25 

0,25  
0,5 

0,5  
1 

 
2 

 
5 

 
10 

 
 gi, % 

2 4 15 23 25 13 11 7 

.  
 [1]. 

 
, . 6.6. 
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 6.6  m  
 

  
,   

< 6 6–12 12–25 
 3,5 5,0 7,0 

 1,5 2,0 3,0 
 2,5 3,5 5,0 

,  5  
 m = 3,5. 

,  
,  

.  
 
 

 2.06.05-84 [4] : 

, (6.8) 

 m1,2 –  ( . 6.3); mo –  
, ;  j   –   

, ,  
(6.2) . 6.2; l  – , ; h  – , ; Kl – 

 (Kl = 0,37  
 

 h2, Kl = 0,17  
 

 h1);  d  –  
, , 

, (6.9) 

 di – , ; gi – , %; 
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; 

; (6.10) 

. (6.11) 

,  
 

. 6.3): 

; 

; 

; 

. 

 

. 6.3.  
 

 6.5.  
 8 . .  

 0,06 . 
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.  ( . 6.4).  
 

, . ,  
,  

.  
 

, ,  
, ,  

 

. (6.12) 

 

, (6.13) 

 l –  ( ), ; b – , . 

 s  s   
: 

; (6.14) 

. (6.15) 

 S  S , 2, : 
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; (6.16) 

, (6.17) 

 R  –  (  
), .  

. 

: 

. (6.18) 

. 6.1 : g = 2100 3; j 
= 24° ; c = 39  = 3900 2. 

 (6.12) 

2 = 1986 . 

 (6.13) . 

 (6.14)  (6.15) ,  

. 

 R  14700 ,  
 (6.16): 

2. 

 (6.18) . 
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,  
 8 .  
 0,06 ,  

 0,61 ,  22 
2 (  5,3 ). 

 6.6.  

 
,  3 . .  

 0,06  
0,05 . 

 

. . 
 ( . 6.5)  

 
 , ,  

, (6.19) 

 – , ; g – , 3,  
 ( . 6.1);  

j  – , ; . 6.2  
(6.2). 

 
 Nmax: 
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, (6.20) 

 l –  ( ), ,  
(6.13). 

 
: 

, (6.21) 

 Rp – , 
 ( ); F –  

, 2. 

. 6.1 : g = 1450 3; 
j = 37° . 

 (6.2)  

. 

 (6.15): 

= 1646 2 = 16,46 . 

 (6.9) : 

, 

. 

 (6.17) : 

2. 

 (6.14): 
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. 

,  
,  3  

.  0,05 , 
 0,56 ,  

 17 2 (  4,7 ). 

 6.7.  
,  

. 

.  
, ,  

; , .  
 III-4-80* ( . 6.7). 

 6.7  
 

 
 

 
,  

,  
 

 
 

 
 

 
 

< 10 4 3,5 
10–20 7 5 
20,1–70 10 7 
70,1–120 15 10 
120,1–200 20 15 
200,1–300 25 20 
300,1–450 30 25 

,  
,  

: 

, (6.22) 

 S  –  
 

, ; l – , ; j – , ; n – 
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, ; h –  
, . 

 S 600.18.20-1 
 6  1,8  0,2  1800  25 : 

. 

 
: 

  

; (6.23) 

  

; (6.24) 

 l – , ; b – , ; R –  
, .  

. 6.8. 

 6.8 

 

 , 
 

,  
,  

-300 8–25 9–30 45–72 
-180 6–8 2,5–30 35,5–108,3 
-573 4–8 2,5–40 35,5–147,5 

-10-20 10 10–20 36–46 

; . 

,  
,  

 

, (6.25) 
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 S -10-20  8  
 30  0,1 1/  

. 

 6.8.  
 40  

. 

. , ,  
.  

 
 

, (6.26) 

 S  – , ;  –  
, ; K –  

,  ( . 6.9) 

 6.9  

  
 500  8 

 500  6 
,  

 
6 

, ,  3,5 
 4,5 

 5 

 
 

, (6.27) 

 Q – , ; m – . 

 = 10 . 

 K:  
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: 

, (6.28) 

 a – , . 

 60° ,   

 = 20 . 

 K: . 
,  

 40  80  
 120 . 

 
,  

, .  
,  

, .  
. 6.10.  

 2688-80*  15 
.  1666  

 122 , ,  120 . 

 6.10  

 
, 

 

 
 

 
,  

 
1000  

, 
 

, , 
, 

 
1666 1764 1862 1960 

 6  36+1 . (  7668-80*)  216 .,  
 

11,5 51,96 513 70,95 75,1 78,2 80,7 
13,5 70,55 696,5 96,3 101,5 106 109 
15 82,16 812 111,5 116,5 122,5 128 
16,5 105,73 1045 144 150 157,5 165 
18 125,78 1245 171,5 175,5 186,5 190 
20 154 1520 210 215 229 233,5 
22 185,1 1820 252,5 258,5 275 280,5 
23,5 252,46 2495 344 352,5 375,5 383 
27 283,8 2800 387,5 396,5 422 430,5 
29 325,4 3215 444 454,5 484 493,5 
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31 370 3655 505 517 550,5 561,5 
 6  37+1 . (  3079-80*)  222 .,  
 

11,5 47,01 468 66,5 68,75 71,7 74,5 
13,5 66,56 662,5 94,2 97,1 100,5 105,5 
15,5 85,54 851,5 121 124 130 136 
17 107 1065 151 155,5 162,5 170 
19,5 135,5 1350 191,5 197 206,5 215,5 
21,5 167 1670 237 244,5 255,5 266,5 
23 193,6 1930 274 283 295 307 
25 225,4 2245 318,5 328,5 343 358,3 
27 266,25 2650 376,5 388,5 406 423,5 
29 303 3015 428,5 441,5 464 482 
30,5 342,16 3405 484 499 522 544,5 

 6  19+1 . (  2688-80*)  114 .,  
 

11 47,19 461,6 66,75 68,8 72 75,15 
12 53,9 527 76,2 78,53 81,9 85,75 
13 61 596,6 86,3 89 92,8 97 
14 74,4 728 105 108 112,5 118 
15 86,28 844 122 125,5 131 137 
16,5 104,6 1025 147,5 152 159 166 
18 124,7 1220 176 181,5 189,5 198 
19,5 143,6 1405 203 209 218,5 228 
21,5 167 1635 236 243,5 254 265,5 
22,5 188,8 1850 267 275 287,5 303,5 
24 215,5 2110 304,5 314 328 343 
25,5 244 2390 345 355,5 372 388,5 
27 274,3 2685 388 399,5 418 436,5 
28 297,6 2910 421 434 453,5 473 
30,5 356,7 3490 504,5 520 544 567,5 
32 393 3845 556 573 599,5 625,5 
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 6.9.  
.  – 10,2 ;  – 0,5  0,5 ; 

 – 5300 . 

 

.  
.  45–

60° ,  45° ,  
 60° ,  

. 

 4 ,  
a = 60° ,  h = 8  ( . 6.6). 

 
 b: 

, (6.29) 

 h – , ; a –  
, , 
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. 

 
0, : 

, (6.30) 

 Q – , ; e –  
, .  

. 6.6 ; 

. 

 W, ,  

, (6.31) 

 g0 – , ,  
 [5] : I – 270 , II – 350 , III – 450 , IV – 

550 , V – 700 , VI – 850 , VII – 1000 ; k – ,  
 ( . 6.11); 

 – ,  
 1,49,  

. – 1,2,  170  – 0,7  
140…170  – 0,5;  
F – , 2.  

 6.11  k [5] 

 ,  
10 20 40 60 100 

 1 1,25 1,55 1,75 2,1 
 0,65 0,9 1,2 1,45 1,8 

. 

, ,  

, (6.32) 
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 h  –  
,  

 = 5319,3  5,1 = 27128,4 . 

 S , : 

, (6.33) 

. 

 , ,  

, (6.34) 

 b – . 

. 

 , ,  
,  3,5: 

. 

 3079-80*  
11,5  ( . 6.10).  

 1666  66,5 . 

 6.10.  
15  ( . 6.7).  

: G = 30 ; c = 0,30 ; v = 0,5 ; t = 5 c; Wk = 150 ; r = 15 ; W  = 50 
; n = 0,2 -1; h = 10 ; H = 25 ; a = 2° ; b = 2 ; a = 25 ; r 1 = 26 .  

.  
. 
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, (6.35) 

 – ,  1,4  
,  1,15  

;  –  
,  

, ;  – 
, ,  

; 

, (6.36) 

 Q – , ; a –  
, , ; b 

– , ; 

, (6.37) 

 – ,  
;  – ,  

, ;  – , ;  –  
, ; w –  

, , 

, (6.38) 

 G – , ;  –  
, ; a – ,  (  

 a = 3° –  a = 1,5° 
;  a = 2° –  

 a = 0° – ); 
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, (6.39) 

 h1 – ,  
, ; 

, (6.40) 

 n – , -1; h –  
, , 

; H – , 
 20–30 ; 

, (6.41) 

 v –  (  v = 1,5 ); g – 
,  9,81 2; t –  

 ( ), ; 

, (6.42) 

 –  
; –  

; W  – , , 
; W  – , , ; r 

=  h   r  1 =  h1 –  
, . W  W  (6.31).  

 F, 2, , ,  
,  

 1,  – 0,3…0,4.  
 250 ,  

 – 150 . 

.  (6.35)–(6.42): 

 

; 
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; 

. 

,  
. 

 

1. . :  / . 
, . , . . – : , 1990. – 208 . 

2.  / . 
, . , . . – .: , 1969. – 264 

. 
3.  2.01.07-85. . – ., 1988. – 38 . 
4.  2.06.05-84.  / . – .: 

, 1985. – 32 . 
5. , .  / . , . 

. – .: , 1990. 

7.  

7.1.  

 
: , 

,  
, ,  

.  
 [2, 5, 7, 10],  [1, 2, 4, 8, 9],  

 [6]. 

 
.  

 I ,  
 I  

 

  

,  
: 
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– ,  
 2…2,5  

 

–  
 2,5  

 

– , , 

 

 

 7.1. 2-92-6,  
, :  

 = 74 ;  U  = 380 ;  
 I  = 135 ;  k = 6,9.  

-2, , 
, , . 

. ,  
:  

 

 
 

 

 
,  
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-2  
 400 . 

 7.2.  ( . 7.1) .  
 

 R  = 100 .  
,  (R  =  0).  

 
 1 . ,  

 R , . 

 

. 7.1.  

.  
,  

,  
,  

.  
,  

 – . 

,  R ,  
 

(7.1) 

 I – ,  
 

, (7.2) 

 U – , ; R  R  –  
, . 
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. 

 
. 

 7.3. ,  
 ( . 7.1),  

. , ,  
 R  = 70 .  

 1 . 
 127 . 

.  (7.1)  (7.2) ,  
 R , 

. 

 P  
. 

 7.4.  
 =180  

 6/0,4  40 .  
25 16,  – 

 10 2.  
 

20 . 

 
 I  = 60 ,  

.  

, 
. 

.  [7, . 
56] Z  = 1,949,  Z /3 = 0,65 .  

: 

(7.3) 
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 r – , ,  
 [7]; – , ; S – , 25 – 

25 2. 

 (7.3), :  

. 

 “ ”  
:  =  = 0.  

: 

. 

 
: 

(7.4) 

 –  “ ”,  
; – ,  

. 

 “ ”  Z  
 

(7.5) 

 (7.5), :  

. 

 “ ”  
:  

; 
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. 

 
20  4 2.  

 
 

(7.6) 

 – , = 3; I  – ; S – 
, 2. 

 (7.6), : 

2. 

 [7, . 57]  20  4  d = 2 2 

 . 

 

; 

; 

; 

 

. 

: 

, 

 . 
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.  

, 

 > . 

7.2.  
 
 

.  
 ( ) ,  

,  ( ) 
,  ( )  

,  
, ,  

, , 
.).  

 I I I  
 N > 2,  –  N < 2  

. 
 

.  
 h = 150  

,  h  <  h.   
 R0. 

. 7.2. 

 
 h   R .  

: 

   

; (7.7) 

   

(7.8) 



127 
 

 
 h  R  : 

. (7.9) 

 

 7.5.  
, 

 ( . 7.2).  
.  h  R  

. 

 

. 7.2.  

.  (7.9)  h  
: 

. 

,  
 h = 25 .  h  = 5,5  

 (7.7) 

 > . 
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 7.6.  
 72  22  8,5 .  N = 50 . 

 1 2  n = 6. . 

. ,  
 ( , .),  
 II-II  [7].  

 II-II  III ,  
 

 20 . 

 II  III  
,  

,  

(7.10) 

 S, L, h  – , ,  
, ; n –  1 2  

. 

 III  
 N > 2,  –  N  2. 

 

. 

,  
.  

7.3.  

, ,  
.  

. 

 
. 

, 
, 

 100 .  
,  

 107 .  
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 107 . 

 

 7.7.  V = 100  
 = 1000 .  

 q = 1,1  10-8 .  
. 

. .  
 ( ), ,  

(7.11) 

 q – , ;  –  
, , 

. 

 10-9 ,   
 

, (7.12) 

 – , , 

. 

 
: 

, 

 [7]: 

. 

,  
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. 

 
,  

 

, (7.13) 

. 

: 

, (7.14) 

. 

,  
 t  0,001 ,  

 

. 

 

, 

 U . 

 7.8.  j  
 110  

. 
-95 (r = 7  – );  = 8,3  –  

; d = 4  –  
. 

.  
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. 

 
.  

 
 110 . 

7.4.  

 7.9.  
 54 3  

 So =  25  2  
 ( ). 

: 

 ,  2,5  
  t , °  20  
  r , 3 0,52  
  

, % ( )2,0  
 ,  8  105  
  r , 3 1,76  
 ,  44  

.  
, ,  [3]:  

, (7.15) 

 r – , 3;  S  –  
, 2;  – , ;  – , 

 1,01  103 ); q –  
, 9,81 2;  –  ( ), 

. 
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 = 0,1 ,  – ,  ( ), 
  

. 

 S  = 25 2  

(7.16) 

 – , ;  –  
, %;  

. 

 
 = 0,9;  

:  

, 

. 

 (7.17) : 

; (7.17) 

. 

 7.10.  
 r = 100 . 

.  
.  

 24  
. 
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.  (7.18)  

(7.18) 

 – , : 

. 

 (7.19) , , 

(7.19) 

. 

, ,  

, 

, . 

 j –  
 r  = R  = 70 

 r = 100  [3]  

(7.20) 

 

 
= 200 2 [3]. 

 q  
 

, (7.21) 

2. 
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 [3]  
 10,8 . 

 

1.  12.1.018-86. .  
. . 

2. / . – 6- ., 
. . – .: , 1999. 

3.  
,  

.  
 24.11.97 . N -1362 . .  

 ( ), 1997. 
4. . :  / 

. , . , . . – .: , 1990. 
5. , .  

 / . . –2- ., . . – .: 
, 1982. 

6. , .  
 / . , . . – .: , 1980. 

7.  (  
) / . , . , . . – .: 

, 1984. 
8.  34.21.122-87.  

. – .: , 1989. 
9. , .  / . 

, . . – .: , 1985. 
10.  

 / . – .: , 
1987. 
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8.  

 
. , -  

.  

,  
 ( ).  

,  
,  

. 

,  
 

, ,  
, . 

, , ,  
, ,  

.  

 
.  

,  
,  

,  
.  

 

 8.1.  
.  

, , , Q  = 10 ; 
,  = 0,8 ;  V = 

2 ;  t = 20 ° ; ; –
;  = 1,5 ;  

 – 175, , 
. 

.  
, ,  

(8.1) 
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1 – ,  
 ( ) . 1, . 1; 3 – ,  

,  
, , . 1, . 1; 5 – , 

,  
 1,  – 0,08,  – 0,23 (  

. 1, . 2  
, ); 7 – 

, , . 1, . 1; Q  
– , , , 

 

 

(8.2) 

2 – ,  ( . 
1 . 1); 4 – ,  ( . 1 . 3); d – 

, 3 ( . 1 . 1); h – , ,  
 

, (8.3) 

 – , , 

. 

. 

 

(8.4) 

6 – , ,  
N ( . 1 . 4); 

. 
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, 
. 1, . 5 : 

;  

. 

, ,  

 = , (8.5) 

 , –  
: 

. 

 ( . 8.1). 

 

. 8.1. :  

1 – ; 2 – ; 3 – ; 4 – 
 

 1  2  
 90° . 

,  
.  

. 1 . 
6: 

.; 

– : 
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.; 

–  (  2  3 ): 

.; 

– : 

. 

 
, ,  

. 

 8.2.  
, . 

,  40 
;  – ;  – 5 ;  
 – 0 ° ;  – .  

.  
 (8.1): 

. 

 (8.4)  
, ,  h = 0,05 , ,  

, 1 : 

 

1 2  
, . 1 . 5 : 

, 

. 

 (8.5) 

. 
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 8.3. . 
. 

,  
, , Q  = 35 ; ;  

 +20 ° ;  – ;  – 
;  = 3 ;  

 45 ., .  – 40 .,  – 5 
.;  V = 3 . 

.  (8.1)  
: 

. 

 (8.4)  
: 

. 

. 1 . 5 1  
2 :  

; 

. 

 (8.5) : 

. 

 (8.2) : 

. 

, ,  
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, (8.6) 

 – , ; V –  
: 

. 

. 1 . 6,  
: 

. 

  

  (  
):  

.; 

  2  3 :  

.; 

 :  

. 

 
. 

 8.4.  
, :  – 30 ,  – 60 , 

 – 30 .  

,  
 V = 5 ; ; ,  4 , 

 0° . 

.  (8.2) : 
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; 

   

. 

   

. 

, , 

(8.7) 

 

. 

. 1 . 5 : 

. 

 8.5.  
 ( )  

,  Q -200 ;  1-  
 – 350 ;  2-  – 280 ;  – 500 ;  

,  1- , – 520 . 
:  –  

,  – . 
. , 

: 

(8.8) 
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 R  –  1000  
. 2 . 1); R  –  

, ; Q  –  1000 ; Q  – , . 

 
: 

 

 D  3,0; 
2,0; 1,0; 0,5; 0,3; 0,2; 0,1 2  200 : 

, 

, 

, 

, 

, 

, 

. 

 200  
 ( . 8.2). 
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. 8.2.  200  
 

 
, : 

 1  D  = 0,8 2;  
 2 – 1,6 2;  
  – 0,4 2;  
  – 0,35 2.  

. 2 . 2 1 2  
, ,  

. 
 

: 
 ;  
 ;  
  

.  
 8.6. , 

 
,  

 ( )  Q  = 80 ;  
2- ,  700  
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,  –  400 ,  ( ) – 
 400 . 
.  (8.8)  

: 
 (8.8) R  –  1000  

. 2 . 3); R  –  80 ; Q  –  
 1000 ; Q  – . 

 
: 

 

 D  0,1; 0,2; 
0,3; 0,4; 0,5; 0,8; 1,0 2: 

, 

, 

, 

, 

, 

, 

. 

 80  ( . 
8.3). 
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. 8.3.  80  
 
 

, : 
  D  = 0,07 2;  
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 23-05-95 [2]  II-4-79 [3].  
 

 10.1.  
, . ,  = 

8 ,  L = 16  = 4 .  
 h1 = 2,8 .  

 IV . : 
 r 1 = 0,6;  r 2 = 0,4;  r 3=0,1. 

 
 = 20 ,  

 = 10 .  
,  –  

. 
.  

 

(10.1) 
 So – ; EN – 

 ( ); S  – 
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 = 1,1 [3, . 27],  

 

  t 1 = 0,8; t 2 = 0,75; t 3 = 1; t 4 = 1 (  
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. 

. . 10.2,  
 = 1,5; h  = 3,5  S = 60 2; W  = 5,5 2. 

 
, 2 

 

2. 

, , 

 

. 

:  

 

. 

,  300  
15 . 

 

1. , . :  
/ . . – : , 2001. 
2.  23-05-95. . – .: , 
1995.  
3.  II-4-79. . – .: , 
1980. 



172 
 

4. , . : , 
 “ ” / . , . 

. – : , 2000. 

 

, , 
 

. 
 

 “ ”  
. 

 
 

, 
 –  

 “ ”.  
: 

–  
 “ ”; 

–  
; 

–  
, ,  

.; 
–  

,  “ ”; 
–  

 “ ”  
; 

– ,  
 

. 
, ,  

, ,  
 “ ”  

. 



173 
 

 

  

1 

1.  
1.1.  

 1  2  
,  

 1.1 .  1.1).  2  
. 

R  = 4 . 
 1. , 

 
, .  

. 1.1, R = 4 . 
 

 
. 1.1.  

 

 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 
 

 

10
0 

25
 

16
0 

10
00

 

10
0 

25
 

16
0 

10
00

 

25
 

16
0 

10
00

 

10
0 

16
0 

25
 

10
00

 
 

    

       

    

 

 

I II III IV 

 

I II III IV 

 

I II IV 

 

I II III IV 

 

 5 6 7 8 9 10 12 13 14 15 1 2 3 4 11 

 

 

 

10
00

 

25
 

10
0 

10
0 

16
0 

10
00

 

10
0 

25
 

16
0 

10
0 

10
0 

10
00

 

16
0 

25
 

 

    

       

    

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение



174 
 

 2. ,   
 380/220 .  

 –- 100 ,   – ;   
 – . 

2 

1.2.   

 
  1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

 
 

7 8 9 16 11 12 13 14 15 1 2 3 4 5 6 
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 2. ,  
, . 

1.2.( )  380/220  3  
25+1 16 2  160  .  ( .1.2, 1.3) 

 3. ,  
, . 

1.2.( )  380/220  3  
25+1 16 2  125  .  ( .1.2, 1.3) 

 4. ,  
, . 

1.2.( )  380/220  3  
25+1 16 2  200  .  ( .1.2, 1.3) 

 5.  ,  
, . 

1.2.( )  380/220  3  
25+1 16 2  250  .  ( .1.2, 1.3) 

 6. ,  
, . 

 

 

IV 

 

II I 

 

III IV 

 

III II III IV 

 

I II III I II IV 

 

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение

virus
Выделение



175 
 

1.2.( )  380/220  3  
25+1 16 2  315  .  ( .1.2, 1.3) 
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 9. ,  
, . 

1.2.( )  380/220  3  
25+1 16 2  1000  .  ( .1.2, 1.3) 
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  9.  

: -
2,  - -4  8- .  
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 = 0,5  3 ,  = 0,15 3.  
.  

 14 . -029  
 215 .  

 80 -5.  
. 

 15.  
:   3- ,  

-2  8- . 
 
 
 
 
 
 

 5 
 

 1.  
 ( )  

 12.1.012-90,  
;  

 10 ;  Q = 12660 ,  
 Q  = 10500 ,  f = 50 ;  

 = 5200 ;  
 = 0,5 ;  8  2,4 ; –.  

– 0,5 
 2.  

 ( )  
 12.1.012-90,  

;  
 10 ;  Q = 10500 ,  

 Q  = 12800 ,  f = 50 ;  
 = 5200 ;  

 = 0,5 ;  8  2,4 ; –. 
: – 0,7; 

virus
Выделение



181 
 

 3.  
,  

 1,7  1,2  
0,1 ,  3600 ,  63  V = 0,09 

,  – . 
 4 .  

,  
 2,0  1,6  

0,2 ,  4200 ,  65  V = 0,08 
,  – . 

 5.  
 120 , ,  

 7 . 
 6.  1200  

 n=3100 . 
 7.  

 12.1.012-90,  
  

 12 ;  Q = 14200 , .  Q = 
11800 ;  50 ;  

 = 5200 ;  = 0,07 ; 
 8  2,4 ; . 

 8.  
,  

 1,6  1,2  0,2  3500 
;  63  V = 0,09 ; 

. 
 9.  

,  = 1500 ;  
 n = 850 ;  

) N = 6 . z = 0,14 . 
 10.  

,  = 280 ;  
 n = 870 ;  

Z = 0,0028 ;  
 

 ( ); 
 [t ] = 

4,2 103 2;  s = 8 105 2;  = 4;  = 1,4. 
 11. ,  

 f,  
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;  
;  = 7 

. 

 12.  m = 2400  
Z = 18 105 ; 

 n = 750 .  
 12.1.012-90(3.38)  

 13.  
,  

 1,6  1,2  0,3  3170 
;  63  V = 0,07 ; 

. 
14.  

,  = 1700 ;  
 n = 850 ;  

) N = 6 . z = 0,14 . 
 15.  

 115 , ,  
 5 . 

 6 
 

 1. ,  
 120  

.   = 7 ,  
  = 95 .  h = 5 ,   = 10 .  

  = 2,2 . 
 2  

, , 
 350 . , 

,  120 .  
 

 24 . 
 3. , 

 80 ,  
, .  

, . 4.1  
 4.1.   

 20 . 
 4  

 L  = 50 .  
 23  7 . 

virus
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 5 , -
 ( ),  

. 
, , 

: 
 

 
,  

125 250 500 1000 2000 4000 

 L,  8 12 15 17 16 14 
 

 
. 

.( 4.10 ).) 
 6.   

160 ,  130  1,5  
. . 

4.11.  
.  110  

.  4  
,  

, . 
7.  

,  
 260 2 (1/2 );  

 4  
 6 .  – 14 2,  – 8 2. 

.  
8.   Q  

, 
 0,7 3 .  3000 3. 

 17 .  
 t  = – 16 . 

 9.  
: F = 600 2;   S  =  

140 2; V  = 1500 3; d = 0,5. 
10.  

 36 ,  
 F = 220 2.  

 k = 2,5 2 .  t  = 20 ; 
 t  = –25 . , 

, q  = 110 . 
 11.  F = 

200 2.  2,5 2 . 
  t  = – 20 ;  t  = 

20  .  k  = 10 2 , 
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 t2 = 85 ,  t1 = 70  

.  
. 

 12  
 L = 26000 

3  t  = –22  t  = 20 . 
:  tr = 120  t  = 80 . 

 13  
 12 .  – 10 ,  – 

18 ,  – 75 %.  
. 

 14 .  
 = 12  –1.  

 10 , . m = 10.  
, 

 5 –1. 
 15.  

 40 .  V = 800 3. ,  
   

: 2,  
, 20 ; 2 2 = 2 

3; 2  ( ) 1 = 0,6 3.   
 7 

 
 1.  

 3600 3  35 2. 
. 

 2. ,  
,  164000 .  

,  = 8 
,  t  = 23,3 , t  = 31,3 , t  =20,3  .  F1  

 F2  1,25. 
 3. , 

 
. :  = 3,6 ,  = 3,0 . 

 
 t  = –22  ; t  = –12 . 

 4.  
. 

: t  = –24 ° ; r  = 1,45 3;  h  = 8 ; t  = 14 ° ; r  = 1,24 
3;  h  = 3 ;  = 2,5 ; F  = 2 2;  n = 800 
;  = 0,38; m  = 0,1 ; t  = 50° . 

virus
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 5. , 
 Q  275000 3 .  

, . 
 6. ,  

,  
 650. 

 7.  
. 

:  – 15 ,  – . 
 8.  

 7  4 . 
 9.  

.  
. 6.5. :  – 3 ,  

 ( ) – 2,8 . :  – 2 ,  – 0,8 . 
 10.  

 6 . .  
 0,06 . 

 11.  
,  3 .  

.  0,06  
 0,05 . 

 

 12.  
 60  

. 
 13.  

.  – 10,4 ;  – 0,5  0,5 ; 
 – 3300 . 

 14.  
 12  ( . 6.7). 
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: G = 20 ; c = 0,30 ; v = 0,5 ; t = 5 c; Wk = 150 ; r = 15 
; W  = 50 ; n = 0,2 -1; h = 8 ; H = 25 ; a = 2° ; b = 2 ; a = 25 ; r 1 = 26 
.  

15.  
. 

:  – 9 ,  – . 
 

 8 
 1. 2-92-6,  
, :  

 = 68 ;  U  = 380 ;  
 I  = 135 ;  k = 5,7.  

-2, , 
, , . 

 2.  ( . 7.1) .  
 

 R  = 100 .  
,  (R  =  0).  

 
 2 . ,  

 R , . 
 3. ,  

 ( . 7.1),  
. , ,  

 R  = 70 .  
 1 . 

 127 . 
 4.  

 =160  
6/0,4  60 .  

25 16,  –  
 10 2.  

 20 . 
 5. 2-92-6,  
, :  

 = 68 ;  U  = 380 ;  
 I  = 220 ;  k = 4,3.  

-2, , 
, , . 

  6.  
 74 ,  20 ,  8,0 .  N = 40 

.  1 2  n  =  6.   
. 

virus
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 7.  V = 110  
 = 1200 .  q = 1,1  

10-8 .  
 

  8.  j  
 110  

. 
-95 (r = 7  – );  = 9,7  –  

; d = 4  –  
. 

 9.  
 62 3  

 So =  27  2  
 ( ). 

 10.  
.  

, , , Q  = 12 ; 
,  = 0,8 ;  V = 

5 ;  t = 18 ° ; ; –
;  = 1,8 ;  

 – 150, , 
. 

 11.  
, . 

,  25 
;  – ;  – 3 ;  
 – 0° ;  – .  

 12. . 
.  

, ,  
, Q  = 27 ; ;  

+16 ° ;  – ;  – ;  
 = 2,5 ;  15 

., .  – 20 .,  – 10 .;  
 V = 5 . 

 13.  
, :  – 20 ,  – 40 , 

 – 10 . , 
 V = 5 ; ; ,  

 2 ,  0° . 
 14.  

 ( )  
,  Q -300 ;  1-  
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 – 350 ;  2-  – 250 ;  – 500 ;  
,  1- , – 480 . 

 15. , 
 

,  
 ( )  Q  = 60 ;  

2- ,  500  
,  –  400 ,  ( ) – 

 400 . 
 
   9 

 
 1. , 

 ( ),  
,  – 14 ;  = 6 

;  = 8 ;  1 2  q  =  1200  2;  
 h = 3 ;  1-  So =  2,4  2; 

 1-  1,5 ;  
, , D = 40 ;  1 2 

 q  = 600 2;  
,  

1000 2, a = 40° . 
 2.  

,  
,  

;  = 12 ;  = 6 ; 
 = 14 ;  1 2  q  =  900  2;  

 h = 3 ;  1-  So =  12  2; 
 1-  ho = 1 ;  
, , D = 40 ;  1 2  

 q  = 500 2. 
 3.  

 10  40 
%,  6–8,  20 . 

 4.  
 60 . 

 5. , 
 ( ),  

,  – 14 ;  = 8 
;   =  8  ;   1  2  q  =  800  2;  

 h = 3 ;  1-  So =  2,4  2; 
 1-  1,5 ;  

, , D = 40 ;  1 2 
 q  = 700 2;  
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,  
1000 2, a = 40° . 

 6.  
,  

,  
;  = 12 ;  = 6 ; 
 = 14 ;  1 2  q  =  900  2;  

 h = 3 ;  1-  So =  12  2; 
 1-  ho = 1 ;  
, , D = 40 ;  1 2  

 q  = 500 2. 
 7.  

,  
 84 .Ra;  

 0,6 ;  24 ; 
 1,25 . 

 8.  
 b - . 

 b -  
,  b -  3 ;  

 – . 
 10. ,  

,  
, ,  – ; 

 106 ;  4 ;  
 – ,  16 ;  

 0,6 ;  – 
; .  
 11. ,  

,  4  16 
,  4  
 20 . 

 12.  
,  6 ,  4  

340  
 D  (  

 20 .) 
 13.  

 L = 50  V = 35 .  
 5 . , 

,  
,  1 ,  

 3 ,  192 ,  
 60 ,  3 , .  
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 14.  2  
:  35 ,  

49 .  
)  24 .  

, ,  
 2  

 
 15.  

 ( =12).  
 ( =1000).  –  

=6). ,  
,  1  

 300 .  

 10–  

 
 1.  

, ,  = 8 
,  L = 2  = 5 .  

 h1 = 2,8 .  
 IV . : 

 r 1 = 0,7;  r 2 = 0,5;  r 3=0,1. 
 

 = 18 ,  
 = 8 .  

,  –  
 

  2. ,  
,  = 34  ( 1 –  17 ),  L  

= 46  = 5 .  
 2,7 .  

;  
 

,  
 h = 0,8 ,  r = 0,6 ,  R = 

0,95 ;  r  = 0,7. 
:  r  = 0,55;  r  

= 0,4;  r  = 0,2. 
 V .  

. 
 3.  

 
. 

virus
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 S = 22  28 2 
 h  = 3  

.  
,  6  21 . 

.  r  =  0,7;   r   = 0,5  
 r  = 0,1.  = 300 ,  

 = 1,5. . 
 4.  N  

 ( =200 )  
 S = 700 2,  

 = 250 . ,  
 = 1,3;  

 = 200  = 3200 ;  
 h  = 0,5;  

 Z = 0,8. 

 5.  N  
 = 40  

 S 800 2,  
,  = 250 . ,  

,  =  1,5;   
 = 65 ,  = 3050 ;  

 h  = 0,5,  Z = 1,2. 

 6.  60  24 = 1440 2 
 100 -80 . 

 
 50 %  30 %.  – 

200 ;  h  =  4,8  ;  
 = 1,5. 

,  
. 

 7.  =  62  ;   =  14   
-80.  

= 1,5; ,  
 r  =  50  %;  r   =  30  %;  r   = 10 %.  

 h  = 4 .  
 

,  = 200 . 
 8. -1  

 = 12 ;  = 12 ;  = 3,5 .  h  = 0,8 , 
 h  = 0,7 .  8 3; . 

, ,  
. ,  
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,  
 = 100 . 

 9.  52 2  
 2  80  4,0  

.  = 1,8.  
,  

=200 . 
 10.  = 14 ;  = 6  

 = 300 .  
 40  h  = 3,5  

.  = 1,8. 
 

. 
 1.  N  

 ( =200 )  
 S = 750 2,  

 = 250 . ,  
 = 1,3;  

 = 200  = 3200 ;  
 h  = 0,5;  

 Z = 0,8. 

 12.  N  
 = 60  

 S 1200 2,  
,  = 250 . ,  

,  =  1,5;   
 = 65 ,  = 3050 ;  

 h  = 0,5,  Z = 1,2. 

 13.  70  20 = 1400 2 
 110 -80 . 

 
 50 %  30 %.  – 

200 ;  h  =  4,8  ;  
 = 1,5. 

,  
. 

 14.  = 74 ;  = 16  
-80.  

= 1,6; ,  
 r  =  50  %;  r   =  30  %;  r   = 10 %.  

 h  = 4 .  
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,  = 200 . 
 15. -1  

 = 14 ;  = 10 ;  = 3,5 .  h  = 0,9 , 
 h  = 0,7 .  8 3; . 

, ,  
. ,  

,  
 = 100 . 

 

 

 
 

 
 

  

      
   1018           10-1 
  1015   10-2 
  1012   10-3 
  109   10-6 
  106   10-9 
  103   10-12 
  102   10-15 
  101   10-18 

 
 

 
 

 
  

 
 

 
  

 
,   ,   ( ) 
,   ,   
,   ,   
,   ,   
,   ,   
,   ,   
,   T,   
,   Y ,   

,   ,   
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,   ,   
,   ,   
,   ( ) ,   

 
  
 

   
 

 
.  

 
 

,  

 ( )  
 

 
  

 

 
 

I  2,2 7,0 4,0 2,7 
II  2,0 5,0 2,7 1,9 
III  1,8 4,0 2,0 1,5 
IV 1,6 2,5 1,4 1,1 
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, 3 

 
1 2 3 7 

   +40°   
+20°  

 0° 
 

 –20°   –40°  

1 2 3 4 5 6 7 8 9 10 11 
:            

 
 

0,0008 0,681 0,18 0,025 0,04 0  
0,9  

0,3  
1  

0,6  
1  

1  
1  

1,4  
1  

 
 

– 0,681 0,01 0,025 0,04 0  
0,9  

1  
1  

1  
1  

1  
1  

1  
1  

 
 

– 0,989 0 0,028 0,15 0,1  0,2  0,5  1  1  

 
 

0,0016 1,191 0,28 0,037 0,30 0,64  
1  

0,6  
1  

0,8  
1  

1  
1  

1,2  
1  

 
 

– 0,687 – 0,02
6 

3,0 – – 0,4 1 1,3 

 
 

– 0,806 0 0,00
7 

0,80 0,04 0,1 0,4 1 2,4 

 
 

– 1,491 – 0,04
0 

0,40 – – 0,4 1 1 

 
 

0,0029 1,462 0,11 0,04
9 

0,33
3 

0  
0,2  

0  
0,5  

0,3  
1  

1  
1  

1,7  
1  

 0,0015 0,964 0,27 0,04 0,03 0,3  0,5  0,8  1  1,2  
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2 6 1  1  1  1  1  
 – 1,263 – 0,02

1 
0,01
3 

0,1 0,2 0,4 1 2,1 

 0,0035 1,432 0,05 0,06
1 

1,0 0  
0,1  

0  
0,3  

0  
0,7  

1  
1  

2,7  
1  

 0,0032 1,553 0,18 0,05
2 

1,0 0  
0,9  

0,3  
1  

0,6  
1  

1  
1  

1,4  
1  

 – 1,658 0 0,00
2 

30,0 0,03 0,1 0,3 1 29 

 0,0021 1,220 0,04 0,04
8 

0,80 0  
0  

0  
0  

0  
0,6  

1  
1  

3,9  
1  

. 1 

. 1 

 

 

 

, 3 

 
1 2 3 7 

   
+40°  

 
+20°  

 0° 
 

 –
20°  

 –40° 
 

1 2 3 4 5 6 7 8 9 10 11 
 – 1,570 0 0,010 0,2 0,1 0,2 0,4 1 2,3 

 – 0,838 0 0,009 0,125 0,05 0,1 0,4 1 2,2 
 0,0014 0,699 0,13 0,34 0,5 0  

0,3  
0  
0,7  

0,5  
1  

1  
1  

2,5  
1  

 – 0,953 0 0,005 0.025 0,1 0,2 0,4 1 3,1 
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) 

– 1,198 0 0,021 0,30 0 0,1 0,3 1 1,6 

: 1.  3 .  
, ,  3  

, 2. 

2.  7  11 ,  – . 

. 1 

 2   

 

, 

 

    
,  

 
  

  
  

,  
 
  

  
  

,  
 
  

  
  

,  
 
  

  
  

< 2 . . .( .) . . 

.) 

. . . 

 3,9 . . .( .) . . 

.) 

. . . 

 4 . . .( .) . . 

.) 

. . . 
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: 1.  “ .” – , “ .” – , “ .” –  (  –  
). 

2.  “ ” ,  “ ” 
– . ,  – 

; ,  – . 

3. . 

 3 4  

 

,  

1 2 3 4 5 6 7 8 9 10 15 

4 1 1,33 1,67 2,0 2,34 2,67 3,0 3,34 3,67 4,0 5,68 

 4  6 ,  

, ,  1 2 3 4 
6 1 1,74 2,41 3,03 

.  N > 4 6 = N0,6. 

 5 ,  

 

, 
 

,  

0,1 0,5 1 3 6 10 20 30 50 70 100 300 500 700 1000 2000 
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1 1,25 3,16 4,75 9,18 12,53 19,20 29,56 38,13 52,67 65,23 81,91 166 231 288 363 572 
2 0,84 192 2,84 5,35 7,20 10,85 16,44 21,02 28,73 35,35 44,09 87,79 121 150 189 295 
3 0,68 1,53 2,17 3,99 5,34 7,96 11,94 15,18 20,59 25,21 31,30 61,47 84,50 104 130 202 
4 0,59 1,33 1,88 3,25 4,36 6,46 9,62 12,18 16,43 20,05 24,80 48,18 65,92 81,17 101 157 
5 0,53 1,19 1,68 2,91 3,75 5,53 8,19 10,33 13,88 16,89 20,82 40,11 54,67 67,15 83,60 129 
6 0,48 1,09 1,53 2,66 3,43 4,88 7,20 9,06 12,14 14,79 18,13 34,67 47,09 56,72 71,70 110 
7 0,45 1,00 1,42 2,46 3,17 4,49 6,48 8,14 10,87 13,17 16,17 30,73 41,63 50,93 63,16 96,30 
8 0,42 0,94 1,33 2,30 2,97 4,20 5,92 7,42 9,90 11,98 14,68 27,75 37,49 45,79 56,70 86,20 
9 0,40 0,88 1,25 2,17 2,80 3,96 5,60 6,86 9,12 11,03 13,50 25,39 34,24 41,76 51,60 78,30 
10 0,38 0,84 1,19 2,06 2,66 3,76 5,31 6,48 8,50 10,23 12,54 23,49 31,61 38,50 47,53 71,90 
11 0,36 0,80 1,13 1,96 2,53 3,58 5,06 6,20 8,01 9,61 11,74 21,91 29,44 35,81 44,15 66,62 
12 0,34 0,76 1,08 1,88 2,42 3,43 4,85 5,94 7,67 9,07 11,06 20,58 27,61 33,55 41,30 62,20 
13 0,33 0,74 1,04 1,80 2,37 3,29 4,66 5,70 7,37 8,72 10,48 19,45 26,04 31,62 38,90 58,44 
14 0,32 0,71 1,00 1,74 2,24 3,17 4,49 5,50 7,10 8,40 10,04 18,46 24,69 29,95 36,81 55,20 
15 0,31 0,69 0,97 1,68 2,10 3,07 4,34 5,31 6,86 8,11 9,70 17,60 23,50 28,48 34,98 52,37 

: 1. 15  15 . 

2.  1  1 . 

 6 , , % 

  
20 30 40 50 60 70 80 90 100 

 90  100 75 65 58 50 40 35 25 18 10 
, 

 
50 40 35 30 27 22 18 14 9 4 
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. :  –25 %,  
 (  2  3 ) – 40 %,  

 –35 %. 

 2 

 1  

 1000  

 D , 2 3 2 1 0,5 0,3 0,2 0,1 
 R, 

 
320 380 520 760 1040 1340 1920 

 2  D , 2, ,  
 

,   
  

  1,5 1,5  3  5 
 

: 
   

 45  0,5  1 1  2  2,5 
100  0,4  

0,6 
0,6..1  1,5 

 
 20..25  

0,5  1 1  2  3 

 0,2  
0,5 

0,5  0,8 0,8  1 
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 0,1  
0,3 

0,3  0,4 0,4  0,6 

:    
 0,1  

0,15 
0,15  
0,25 

0,25  0,35 

 0,08  
0,1 

0,1  0,2 0,2  0,3 

 0,06  
0,08 

0,08  
0,12 

0,12  0,2 

 ( , ) 0,1  
0,3 

0,3  0,6 0,6  0,7 

 0,1  
0,3 

0,3  0,6 0,6  0,7 

,   0,2  
0,5 

0,5  0,7 0,7  1,2 

  3  6  10 
, , 

 
 6  10 10..20 

. 2 

,   
  

, 
 

0,1  
0,2 

0,2  0,6 0,6  0,7 

 0,5..1 1  1,5 1,5  2 
, ,  0,2  

0,4 
0,4  0,6 0,6  0,9 
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 0,5  
0,7 

0,7  1  1,5 

:    
 0,2  

0,4 
0,4  0,5 0,5  0,6 

 0,1  
0,2 

0,2  0,45 0,45  0,65 

: 1. ,  
 D . 

2. , ,  
 1,5  2 . 

3.  D . 

 3 , ,  
 1000  

, 2 0,1 0,2 0,3 0,4 0,5 0,6 0,8 1,0 2,0 
,  1,12 0,69 0,54 0,44 0,4 0,36 0,32 0,28 0,2 

  

 1000  

  , 2 3 2 1 0,5 0,3 0,2 0,1 
 R, 

 
320 380 520 760 1040 1340 1920 
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 2 

  , 2, ,  
 

,   
   

 1  1,5 1,5  3 3  5 
 

: 
   

 45  0,5  1 1  2 2  2,5 
100  0,4  

0,6 
0,6..1 1  1,5 

 
20..25  

0,5  1 1  2 2  3 

 0,2  
0,5 

0,5  0,8 0,8  1 

 0,1  
0,3 

0,3  0,4 0,4  0,6 

:    
 0,1  

0,15 
0,15  
0,25 

0,25  0,35 

 0,08  
0,1 

0,1  0,2 0,2  0,3 

 0,06  
0,08 

0,08  
0,12 

0,12  0,2 

 ( , ) 0,1  
0,3 

0,3  0,6 0,6  0,7 

 0,1  
0,3 

0,3  0,6 0,6  0,7 

,   0,2  0,5  0,7 0,7  1,2 
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0,5 
 2  3 3  6 6  10 

, , 
 

4  6 6  10 10..20 

. 2 

,   
   

, -
 

0,1  
0,2 

0,2  0,6 0,6  0,7 

 0,5..1 1  1,5 1,5  2 
, ,  0,2  

0,4 
0,4  0,6 0,6  0,9 

 0,5  
0,7 

0,7  1 1  1,5 

:    
 0,2  

0,4 
0,4  0,5 0,5  0,6 

 0,1  
0,2 

0,2  
0,45 

0,45  0,65 

: 1. ,  
. 

2. , ,  
 1,5  2 . 

3. . 
 3 

, ,  
1000  
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, 2 0,1 0,2 0,3 0,4 0,5 0,6 0,8 1,0 2,0 
,  1,12 0,69 0,54 0,44 0,4 0,36 0,32 0,28 0,2 

 

 
 

, 
2 

 
 
 

) 

 

) 

 
) 

150  
200  
250  
300  
350  
400  
450  
500  
550  
600  
650  
700  
800  
900  
1000  
1100  
1200  

2  
4  

5,5  
8  
12  
16  
22  
32  
45  
65  
90  

120  
250  
500  
1000  
2000  
4000  

2  
3,4  
4,5  
6  

8,5  
10  
15  
20  
26  
38  
50  
70  
120  
220  
400  
700  

1100  

7  
10  
15  
30  
45  
70  
100  
160  
220  
350  
600  
800  

2000  
4500  
10000  
 10000  
 10000  

.  1 2 ., ., . 

 2 

 V1 
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,  

 v1  
),  

3 6 12 18 24 30 
2 

3 

6 

12 

0,06 

0,04 

0,02 

0,01 

0,16 

0,09 

0,03 

0.02 

0,24 
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1 2 3 4 5 6 7 8 

20 0,3 0,6 1 1,3 1,5 1,7 1,9 2,1 
25 0,4 0,7 1,2 1,6 1,9 2,3 2,4 2,6 
30 0,5 0,9 1,5 1,9 2,2 2,8 2,9 3,1 
40 0,6 1,2 2 2,5 3 3,7 3,8 4,2 
50 0,8 1,5 2,5 3,1 3,8 4,6 4,8 5,2 
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0,5 1 2 3 4 6 8 12 24 48 

0,5 1,5 0,85 0,62 0,55 0,48 0,43 0,4 0,35 0,31 0,3 
1 2,5 1,5 1 0,82 0,72 0,61 0,55 0,5 0,41 0,4 
2 5,2 3 1,7 1,3 1,2 0,92 0,82 0,7 0,58 0,5 
3 8 4,5 2,6 1,3 1,5 1,3 1,2 0,9 0,7 0,6 
4 11 6 3,3 2,3 2 1,5 1,3 1,2 0,8 0,65 
5 14 7,5 4 3,6 2,4 1,8 1,5 1,3 0,9 0,72 
6 17 9 5 3,5 2,8 2,1 1,7 1,5 1 0,8 
7 20 11 6 4,2 3,2 2,5 2 16 1,2 0,85 
8 22 12 6,7 4,8 3,8 2,8 2,2 1,7 1,3 0,9 
9 25 14 7,7 5,5 4,2 3,1 2,4 1,8 1,4 0,98 
10 30 15 8,7 6,2 5 3,5 2,7 2 1,5 1,0 
12 33 17 10 7,2 5,8 4 3,2 2,5 1,6 1,2 
18 50 32 17 12 9 6,8 5 3,7 2,2 1,5 
24 75 45 22 16 12 9 6,8 5 3 1,7 
36 120 70 35 25 18 15 10 7 4 2,3 
48 160 95 48 36 27 20 15 10 5,8 3,0 
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0,5 0,43 3,0 3,74 12,0 19,72 
1,0 1,00 4,0 5,28 24,0 45,31 
1,5 1,63 5,0 6,90 48,0 104,10 
2,0 2,30 6,0 8,59 72,0 169,30 
2,5 3,00 7,0 10,33 96,0 239,20 
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t .  
0,5 37 52 61 67 71 74 77 79 81 83 87 90 92 94 96 98 100 
1 30 43 53 60 65 68 72 75 77 80 84 87 90 93 95 98 100 
2 20 33 42 50 57 62 66 70 73 76 81 84 87 91 94 97 100 
4 15 26 35 42 49 55 60 64 67 72 77 82 85 89 93 96 100 
8 12 20 28 35 40 45 50 55 59 63 70 76 81 86 90 95 100 
12 10 18 24 30 36 41 46 51 56 60 67 73 79 84 89 94 100 
20 7 13 19 25 30 35 40 45 49 53 61 69 75 81 87 94 100 

 


